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In [1]: import numpy as np
import pandas as pd
import matplotlib.pyplot as plt
from scipy import stats

IEMBEREH SiRAHH

In [2]: m=12 t BFHORE
s=3 # BIREREDHRE
n=10 t BEAMCIYET YU TILE

nsample=np. random. normal (m, s, size=n) # FEFHFER Nm, s"2) MoEYELE n BOY > TIL

In [3]: nsample

Out[3]: array([ 8.33933859, 10.21211615, 16.14986579, 13.96338894, 10.45877938,
6.17681229, 7.11673718, 17.99008649, 12.20453506, 12.97482804])

In [4]: sample_mean = np.mean(nsample)
samp | e_mean

Outl4]: 11.558648791639692

{SFR{REN 1- alpha DIEFXR

In [6]: # ZH£EERPHOLA /28
normal = stats.norm() # ZHEIFRS M EHEE
alpha = 0.05
normal. isf (alpha/2) # E8l alpha/2 = = W8 alpha &=

Out[5]: 1.9599639845400545

In [6]: LCI = sample_mean — normal. isf (alpha/2)*np. sqrt (s**2/n) t EERMEO T iR
UCI = sample_mean + normal. isf (alpha/2)*np. sqrt (s*x*2/n) # EEXED g
LCI, UCI

Out[6]: (9.699263694726007, 13.418033888553378)

In [7]: # EERMEIBFEHEHEZATNSH?
LCI <=m <= UCI

Out[7]: True



In [8]: # EEREORR
fig=plt. figure(figsize=(6,4))
ax=fig. add_subplot(1,1,1)
ax.vlines(m 0,4, color="red’) # FFEH
ax. hlines(1,LCI, UCI) # S XHE
ax. scatter (sample_mean, 1) # EREY
ax. set_xticks ([m-2%s, m-s, m, m+s, m+2xs])
# ax. set_xticklabels ([ Population mean’])
ax.set_ylabel (Trials’)

Out[8]: Text(0, 0.5, ’'Trials')
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In [9]: # RA%OFEAMLEZ T BREYRLTEERMASEDL S ICRNENZRTRT S

T=100 t FSAT7ILDEIE
SM_list=1]
for i in range(T):

nsample=np. random. normal (m, s, size=n) # IEMBEH N, s"2) MAoEYHELE n B2 TIL
sample_mean = np. mean (nsample)
SM_list = SM_Ilist+[sample_mean]

# SM_list



In [10]:

Out[10]:

fig=plt. figure(figsize=(6,10))

ax=fig. add_subplot (1,1, 1)

ax.vlines(m 0, T, color="red") # &Fi3

for i in range(T):
LCI = SM_list[i] — normal. isf(alpha/2)*np. sqrt (sx*2/n)
UCI = SM_list[i] + normal. isf(alpha/2)*np. sqrt (sx*2/n)
ax. hlines (i+1, LCI, UCI)
ax. scatter (SM_list[i], i+1, color="blue")

ax. set_xticks ([m-2%s, m-s, m, m+s, m+2%s])

ax.set_ylabel ('Trials’)

Text (0, 0.5, 'Trials’)
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In [11]: # EEREIIBIHZHEZATCLEIH? BEHAEERBICEENTWNS LS4 7ILEDEIS
ST=0
for i in range(T):
LCI = SM_list[i] — normal. isf(alpha/2)*np. sqrt (s**2/n) # EERM D TiH
UCI = SM_list[i] + normal. isf(alpha/2)*np. sqrt (sx*2/n) # EERMO LG
if LCI <= m <= UCI:
ST=ST+1
else:
ST=ST+0

ST/T

Out[11]: 0.94
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